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I Status of the “latter” minn (after #1)
a Ny " cannot be brought at night; but may be spilled after death of owner; yet if brought yyna —2»n
b  9™:insome ways, like “post”, in some ways, like “first”
i Like first: y1n, nighttime, 91, must be done from n1w »%3, at the 17p, with the finger, if they fall on garments must be
cleaned (v1275) and p»7*w must be spilled out
ii  Like “post”: death (m’5»1 nnon), they are not 9>nn, nor %391, nor Yma if brought inside
1 Source (for p1223): %R wnar — if the nron o7 spilled from the neck to the T3, or from the 17 or MY’ — no V1%
(a) Implication: that which is fit for the 17p (i.e. all four mann) — o115 NYV
(b) Challenge: if so, also read “that which is fit for the T’ (i.e. D”7'w) ©Y25 PYV”
(i) Answer:v.1 nr 7WR excludes that which has already undergone nxrn (set for T10)
2 Rejection: that nywn follows (1:3) oM 7 — if he brought yina n»w, liable (for yina nYyn)
(a) Challenge: we know that 13”1 holds that 0»»1*w are significant for nX>»n; why assume he extends to v1275?
(b) Answer: affirmative, per our solution to the difficulties in this xna:
(i) &r7772 MO PNYON DNT - require VI, NAVNN is significant and offering them up yna—a»n
1. But: ©n7 which go to the nnxk have none of these
2. And: we assessed — who maintains liability for yina nxr5»n? — nonm "1 — and he holds 01225 pnyo
a.  Challenge: nawnn can’t be meaningful (after np»r)
b. Read: reference is to 3 minn (after #1)
i.  Challenge: these can’t be called Mo’ 1Y — they go to 1p
ii. Read: mo iy (i.e. they’ll eventually go to 1)
iii. Challenge: nawnn is insignificant (after first ninn)
c.  Rather: reference is to nyn2a mann (where all 4 are significant)
i.  Ifso: then one is exempt for mn¥'n nT (after 1% ninn)? Let the ®kn»1a add that and not
just distinguish between npr/mo
3. Answer: follows n>nm1 "3, who holds that offering up yina n»9w —a»n
a. But: he couldn’t mention o»1¥m vs. 0”79, as he wouldn’t have 3 (Amn) vs. 3 (110R)
i.  Explanation: nawvnn and o123 are different, but not nx5yn
3 Rya7 (alternate solution to read of 3:® to 8”) — 19p means “from 17p”, but To> means “fit for T (01>V)
(a) Challenge: why distinguish in the read
(i) Answer: if we read both as “»R1”, then T10°Y "R1 is so obvious (after 17pY "R7) it need not be stated
II  Analysis of “a mwn — all mann on the inner narn are 15N
a  Npainterpreting v. 2: comes to subtextually “double” instruction = 25yn
i notonly: 7 mnrn (on naa) which are always 23yn, also 4 mnn on *n1a nam (from "nwY’ 19”)
ii  and:92% alludes to 3”1y 19 as well
iii  and: 9% nwy FwRI: alludes to MwnN 113 99
iv  and: nronn alludes to 17y YW
1 suggestion: perhaps 0’931 *yw and n"1 should also be included
2 rejection: ™>” limits
(a) question: why exclude n”y1 o937 »1Yw and include the above?
(b) answer: include 31y 13 etc. which come to atone for known sins
(c) as opposed to: NN YT PPV (VVTPI VTPN NRMIV — YTIN RY)
v and: 9931 — even though he failed to do nano
vi and: nYon —even though he didn’t process the n»9v
1 question: why exclude these and include 7 mrrn?
2 answer: MRIN are always 25Yn, D¥1PW1 N2’ND are never 19N
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I Reevaluating distinction between 7 mxti (which are obviously 25yn) and 4 minn (which require source)
a  Premise: 7 mrrn are always 10yn
i Source: "NYTR 179 and YN MR
b extension: 4 09 Minn are 20yn
i per:nwy
¢ Question: why distinguish? Both are mentioned and repeated (22v5 15y nmv)
i Answer: for ", who maintains that 2 mann are written “explicitly” in each of vv. 3&4;
1 Explanation: we infer 2 from nown 103 18 (could say “19p” — but says n11p) & 2 from "9 727 05»n 19 (NM1p/17P)
2 Contra: nmi "1, who infers all of them from superfluous ¥ YnRa WK (in each of vv. 3/4)
(a) Question: how does N1 " interpret nwy? 1:1?
(b) Answer: to extend to 3”01 14
(i) Challenge: we already included it via 2”nv 99 nr — 19%
(if) Answer: we would think that that inference only extends to vital nT1ay (1193 8239n7), like 07H NXIN
1. But: for “inessential” nT1ay, such as n»w1 n>Mo, we don’t extend — Y"np
(iii) Question: how does w™ interpret Ty YnR2?
1. Answer: teaches that only if roof is properly up may the 103 perform nxrn
2. 7y “1 infers that from (7910 YnR1) "WR”
3. v doesn’t see the significance of "WR”
(c) Alternative answer (2225): 010 "1 also needs nwy 191 for the 4 mann
(i) Since: naMOY DPWY are not 21Yn, R™o that 2R NN isn’t either — Y"np
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